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‘ Circle the correct answer.

A.3Dis

B .44 is

& 20 is

D.13 is

E.71is

F.15is

Comment:

-

Greater than
Less than

Equal to

27

Greater than
Less than

Equal to

43

Greater than
Less than
Equal to

26

Greater than
Less than

Equal to

13

Greater than
Less than

Equal to

65

Greater than
Less than 15

G.36is

H. 62 is

I.18is

J. 49 is

K. 27 is

Greater than
Less than 37

Equal to

Greater than
Less than 2 6

Equal to

Greater than
Less than

Equal to

18

Greater than
Less than
Equal to

Greater than
Less than
Equal to

Greater than




* Level:
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- M“’E'mhm
) O 30=9

2. Twenty is less thon o
O 20<21 s

3. Eight is equal to eight.

O 8>8 o
4. Seventeen is less than twenty,

O 17<20 2 e

5. Ninety is greter thon
e O 90=19

6. One is equal 1o one.
e O 1=1

7. Fifty is greater than thirty,
O 50=30 S e

O 5<§
Comment

O 30<9

O 20=2)

O B8=8

O 17=20

O 90<19

0 1<)




